Dammam Community College
MATH 011

Past Exam Questions

R.7
1. When rationalized, the expression 
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is equal to
Answer: 
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2. The expression 
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  simplifies to
Answer: 
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3.   If 
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,  then write 
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 in simplest form.

Answer: 
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4. Write the following expression in simplest form and without the absolute value symbols:
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,   where  
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Answer: 
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5. Given 
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, rationalize the denominator and write the result in simplest form.
Answer: 
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6. Rationalize the second term of the following expression, then write the expression in simplest   form:        
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Answer: 
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